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Which tool generates and executes the SQL for a specific node of your calculation view?

A. SQL analyzer

B. Database explorer
C. Debug Query mode
D. Explain plan

Answer: C

You are managing your source files using Git. In which sequence does your file progress towards a
COMMIT?

A. Working directory -> Local Git repository -> Staging area
B. Working directory -> Staging area -> Local Git repository
C. Local Git repository -> Staging area -> Working directory
D. Staging area -> Working directory -> Local Git repository

Answer: B

Why might you use the Keep Flag property in an aggregation node?

A. To include columns that are NOT requested by a query but are essential for the correct result

B. To retain the correct aggregation behavior in stacked views

C. To ensure that the aggregation behavior defined in the aggregation node for a measure CANNOT be
overridden by a query

D. To exclude columns that are NOT requested by a query to avoid incorrect results

Answer: A




Which of the following are standard options provided to define analytic privileges? Note: There are 3
correct answers to this question.

A. Graph

B. Attributes

C. SQL expression

D. Dynamic

E. Hierarchy function

Answer: B,C,D

You want to ensure that your calculation view does not give unexpected results based on the selected
columns in the query. What is the recommended approach for verifying the results?

A. Set the HIDE property for columns NOT required.

B. Select and deselect columns from the output mapping.
C. Execute a custom SQL query in the SQL Console.

D. Select Data Preview for the calculation view.

Answer: C,D

Why do you use the Hidden Columns checkbox in the semantics node of your calculation view? Note:
There are 2 correct answers to this question.

A. To avoid exposing sensitive columns when defining calculated columns
B. To prevent passing columns in stacked calculation views

C. To remove a column that is also used as a Label column

D. To ensure specific columns are NOT exposed to the reporting tool

Answer: C,D

In a database module, what is the purpose of the .hdiconfig file?

A. To specify in which space the container should be deployed
B. To specify an external schema in which calculation views will get their data
C. To specify the namespace rules applicable to the name of database objects



D. To specify which HDI plug-ins are available

Answer: D

Which type of join supports a temporal condition in a calculation view?

A. Inner join

B. Text join

C. Referential join
D. Left outer join

Answer: A

What is the recommended tool for developing cloud foundry applications on SAP Business Technology
Platform?

A. SAP HANA Web IDE

B. SAP Business Application Studio
C. SAP HANA Cloud Central

D. SAP HANA cockpit

Answer: B

Why would you create calculation views of data category DIMENSION with type TIME?

A. To provide the time intervals required by time-dependent parent-child hierarchies

B. To add a temporal condition to a join to find matching records from two tables based on a date
C. To provide additional time-related navigation possibilities

D. To store historical versions of attributes

Answer: C




